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Very popular question, with most students attempting it. Very few students considered a code approach, using
partial factors. Most students were able to apply the bearing capacity equation od shape, embedment modification
coefficients. The question on mobilisable strength design was answered well by a small numbered of students, but
most did not go back and check capacity was still sufficient when they proposed footing sizes.
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A difficult question in general well handled by students and tackled by most candidates. Some candidates did not distinguish
between different types of piles when determining the effects of neighbours, but most did well. The final system stiffness was

often miscalculated. In general well handled by those who did a complete job.
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Very few students attempted this question, but those that did generally did quite well. In a few cases, students did
not consider interaction between vertical and horizontal capacity. The drained bearing capacity proved to be more
challenging and most students failed to consider the factored code approach.
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PROBLEM 4
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A popular question on stresses around piles due to installation and effects on pile behaviour. Many candidates described stress
changes in a) but neglected to explicitly say how these affect performance. Many candidates obviously ran out of time towards
the end of the question, part ¢ on compliance of long piles was often picked up, but several candidates then assumed rigid piles

in part d.
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